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Time : 3Hrs. Sem. V/Mech.
Auto. Eng.
Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each guestion
carries 1 marks.

qu-A ¥ gl 20 ¥ & IR ©, UAS 9T &1 A ] S |

Answer all Five questions from Greup B, cach question
{'fHTa'I( A J H!’(H’Jﬂ'.i.

yu-B & wift dfe weal & 9o &, udld W &1 °H 43D 2|

Answer all Five guestions from Group C, each guestion
carries 6 marks.

7u-C ¥ wft uig et & 9o 2, udl® Wed @ A 6 36 2 |

All parts of a question must be answered at one place in
sequence, otherwise they mayv not be evaluated.
T 999 & 9@l A &1 SR UF B oFre (R 89 )

gl aifey, @-aear 4 offd S8 o aed & |

The figure in right hand margin indicate marks.

a0 qed @ Wd qorie & qas ¢
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I. Choose the most suitable answer from the following

options : 1x20=20
waiftre sugdd e o1 g fad -

{1)

{i

{11)

The torgue available at the contact between
wheel and road i1s known as:

{a) Brake cffort

{b) Tractive cflort

{¢) Clutch cflort

{d) None of above

gisfdn &fer vd gs@ & €9 9us
I U IUAEl Sid &l Hal.... Skl &
(@) d% gar

(@) ¢fdea vy

CSIESEREIL]

(@) wux &1
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eveeeeCluteh facing are usually attached to
the plate by:

(a) Steel reverts

{b) Brass reverts

(¢) Aluminum Service

(d) Steel screws
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(1)

(1)

(1v)

H dlsd 82—

(&) e Rde

(@) s Rde

(%) Srewgfver st
(%) e Bt

The materials used for cylinder block are:

{a) Cast iron
{b) Cast iron and aluminium alloy
(¢) Steel and aluminium alloy

{d) Brass and steel

ficiwev wife @ fay._argay @
I BT a—

(31) ®ree A

(@) @ve 3mAR+ ud srgfafran i
(@) «a g syt iy

(q) draad va e

The stroke of engine 1s the...................
(a) Volume of cylinder

(b) Length of connecting rod

(¢) Internal dia of cylinder

(d) Distance between TDC & BDC
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(1v)

(v)

(v}

(v1)

99 H1 JGeTd............. . BIdl &—
(a1) Rret=s¥ @1 3maaq

(@) HAfacT s B dH=Ig

() Rrel=s &1 smaR® @y
(&) TDCvd BDC & €= &1 g4

The compression ratio a petrol engine is
nearly.................

{a)4:1

(b) 8:1

{c) 15:1

(d) 20:1

Uglid guid 4 ddles srgurd ...
U9 BT B—

(31) 41

(q) 8:1

(") 15:1

(€) 201

Injector is employed for:
(a) Diesel engine

(b) Petrol engine

(¢) Both'a" and 'b'

{d) None of above
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{vii)

{vii)

{viii)
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ST I on S 3o & foe sgaiy e
SITaT B

(a1) Srorel

@) gl

(&) g1 3T qr 7

(7) SR HIg T8

Self iginition temperature of diesel as
compared to petrol 1s:

(a) Higher

{b) Lower

(¢} Same

(d) None of these

deld @ T SIoldd &1 ¥dd: godold
ATUHH....... &rdr 28—

(31) waT<T

(@) &

(W) 9vrE]

(@) Sux Big €

The Commonly used antifreeze solution
automobile is..............

(a} SO

(b) Ethylene glycol

(¢) ALCE

(d) F-12
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afcluigger ¥ egad U=Ihlol gld
A &rd1 28—

(31) SO,
(@) snfest argsla
(|) ALCL
(@) F-12

In a single drive plate clutch, torsional
vibrations are absorbed by:

(a) Torsional spring

{b) Cushion spring

{c¢) Central hub

(d) Clutch pedal

Uhd dald- ¢ § cRATd dUT ...
T 3raenfda fhar srar 8-

(31) ervaee R

(@) s Ruw

(W) ¥ gel

(8) ¥ Usd

Camber angle associated with:
(a) Braking system

{b) Steering system

{c) Vibration system

{d) Nonc of above
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{x1)

{x1)
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(31) dfepm

(@) wraRa

(@) ®u

(&) ®R BIg )

Tubeless tyres are not used in ... wheel.
{a) Disc

(b) Alloy

(c) Composite

(d) Wire

CYAAY TR ..., gdld A IUAIT AL
faar smar 28—

(&1) fev

CIRGIE!

(a) swaifire

(]) dr

The starting system includes:

(a) A battery, a starter, switch

(b) A battery, a starter, switch, distributor
(c) Battery only

{(d) Nonc of above
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(xiil)

(xiv)
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wifér R § .21 2

(o) va 41, va Wik, Raa

(@) T A, v Ty, Rag, faows
(@) Rie 4

(&) SR BIg T

Two speed reverse gear arrangement is generally

provided in case of

{a) Matadors

(b} Tractors

(¢) Truck

(d) Passenger cars

fad T Seer MR & agwr ype. T &)
el 28—

(3-1) HeTSR

Damper m an automobile is used to:
(a) Absorb energy

{(b) Dissipate cnergy

(¢) Release energy

{(d) Increase energy
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U eIAdsd § S/ &1 Ui
fopar sar 8-

(31) Sl eyl & fog

(1) St garfaa &= & fov

(@) Sl sisd & fero

(&) il qe™ & forg

Air lock is diesel engine due to lac of:
(a) Petrol

(b} Diesel

(c) Air

{d) None of these

SIad 99 A g4l AP & g
i glar 8—

(31) dgla

@) Srora

(\) @

(&) 39 @& &g &)

[ginition system of SI engine may.............
system:

{a) Magneto

(b) Battery

{c) Both'a"and '’

(d) None of these
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In a diesel engine, the fuel 1s ignited by:
(a) Electric spark

(b) Heat of compression

(¢) Hot exhaust gas

(d) None of above

(@) faegga famd

(@) gdlsd 4R IU—~1 I
(@) 1 fserfRra i

(%) SuRiad &g 8]

An over inflated tyre will wear the threat most
near:

(a) Edges

(b) Corners

(¢) Centers

{d) None of these
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(xviii) 3TN g badde <N A sferedav forarg

{(%0x)

{(xix)

{xx})

____________ & olald Bidl &—
(a1) fpay

(€) il

(w) d=

(g) SuxX HIg 8

Telescopic shock absorber 1s type of
(a) Suspension system

(b) Braking system

(¢) Steering system

(d) All of above

eelrenIfas oie vaoiidv...... BT YR B—

(a1) ade ugfa
(@) dfeT ggfa
(@) T ggfa
() Sux |+l

Casteris a

(a) Forward tilt of king pin
(b) Backward tilt of king pin
(¢) Either "a" and B’

{d) None of these
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(@) fPaft=1 &1 3 @1 AR gara
(@) Tt &1 N8 @1 AR Fgaa

(@) arar & W T
(@) SR 3¢ 7L

GROUPB

Answer all Five Questions.

it uTg yoAl & 9 ©

2.

What is cam, write its two function.
& FUT 2 3Ud < bl B fored |
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Write the four functions of rocker arm.
Jidx 3 & g sral ol ford |

Write the two differences between constant mesh
and synchro mesh gear box.

4
Fraaie Aer ¢d Weml der Nar dieg 9 &
Fax fod |

OR (312141)

What is automatic gear on different load and speed.

fafr=r 9R ud a7 w sefes Max @
2 |

What 1s distributer in automobile. Write themr

lunctions.

4
aetlarge ¥ fQave a1 8, g9 d1al )
ford |
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What 1s the working principle of a fuel injector

pump.
wd golaer ug &1 srd Rrgra @ 27
Write two functions of a common Clutch.

4

T4 48N dicdl doid & <l ®ral & fod |

OR(312141)

Write the main function of wiper used in automobile.

ATCIAdrsd W IUAIT 8l drel dI5UR & &4
aal &) ford |

What 1s forced feed lubrication system.
doyda wie Hed ugfa @ 2

OR(31214T)

Write the name of various components of motor
cooling system.
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Answer all Five Questions.

@fl dia 9 @ SR

6x5=30

7.  What are factor affecting the braking effect.
6
dfdbT yme &1 9o 4 dRS yHifAd

& 2 |
OR(31214T)

What are the advantages of hydraulic brake over
mcchanical brakes.

P.T.0
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8. Explain them camber, caster and kingpin inclination.

6
®¥eR, drEex vd fHafa & o ual @l
AT B
OR(372141)
Describe the air lock in CI engine and give its
remedies.
o g0 39 § gaAT-—dld ®1 avfa aN
U9 gad e &) ford |
9.  What is Ackermen's principle of steering system.
Discuss.
6

i ggfa 4 vewe figid a1 8,

qufe &Y |
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10.

I1.

OR (31e14r)

What is suspension unit, Explain.
e fre @7 27 auia e |

What 1s shding mesh gear box. Explain in details.

6
Tersfen #w Mav 9iea a1 272 favar @
qufq &Y |

OR (312141)

Write the factors affecting the lubrication. Give

any two types of lubrication systems.

WIed & garidd &< 491l dcdl &1 ford |
fp=df ql ubR & Wad uefa &) ford |

Discuss the construction and working of lead acid
battery used in automobile vehicles.

6
Aeididasd mfsal § wragd 819 drell s
ore tRre 41 &) s-19e vd o1d gyvirell &1
o &Y |
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Why diffierential is used in automobile. Describe

the construction and function of differential.

Spy=ilae &1 SuAly snciAarsa A @al 87
$9P g919c ¢ Sl BT quiT BN |

wkk
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